Managed by: IITians, NITians

V7 Neutron Classes

MCQ WORKSHEET-I

CLASS X: CHAPTER - 8
INTRODUCTION TO TRIGONOMETRY

1. In AOPQ, right-angled at P, OP = 7 cm and OQ — PQ =1 c¢m, then the values of sin Q.

7 24
(@)= ®) 52 ©1

2. IfsmA= g , then the value of cosA 1s

7 24
@ ®) -5 (©) 1

(d) none of the these

(d) none of the these

3. In AABC, right-angled at B, AB =5 cm and ZACB = 30° then the length of the side BC 1s

(@) 5v3 (b) 243 (c) 10 cm

(d) none of these

4. In AABC, right-angled at B, AB =5 cm and ZACB = 30° then the length of the side AC is

(a) 53 (b) 23 (c) 10 cm
0
5. The value of HL?OG
1+tan" 30
(a) sm 60° (b) cos 60°  (c) tan 60°
T )
6. The value of % 1S
1+ tan~ 45
(a) tan 90° (b)1 (c)sn45° (d)o

7. sm2A =2 sin A is true when A =

(a) 0° (b)30° (c) 45° (d) 60°
0
8. The value of 2‘[&117?00 18
1—tan” 30
(a) sm 60° (b) cos 60°  (c) tan 60°

9. 9sec’ A—9tan’ A=
@l ®m9 ©8 @O

10. (1 +tanA + secA) (1 +cotA —cosecA )=

(a) 0 M1 ()2 (@-1
11.(sec A+tan A) (1 —sm A) =
(a) sec A (b) smn A (c) cosec A
5. 1+ tanf A_
I+cot™ 4
(a) sec” A (b) -1 (c) cot” A

(d) none of these

(d) smn 30°

(d) sin 30°

(d) cos A

(d) tan® A
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MCQ WORKSHEET-II
CLASS X: CHAPTER - 8
INTRODUCTION TO TRIGONOMETRY

1. Ifsin 3A = cos (A — 26°), where 3A is an acute angle, find the value of A.
(a) 29° (b) 30° (c) 26° (d) 36°

2. Iftan 2A = cot (A — 18°), where 2A 1s an acute angle, find the value of A.
(a) 29° (b) 30° (c) 26° (d) none of these

3. Ifsec 4A = cosec (A — 20°), where 4A 1s an acute angle, find the value of A.
(a) 22° (b)25° (c) 26° (d) none of these

4. The value of tan 48° tan 23° tan 42° tan 67° is
@l ®m9Y ©8 @O
5. If AABC isright angled at C, then the value of cos(A + B) 1s
(@0 (b) 1 (c) 2 (d) n.d.
sin® 22° +sin’ 68°
cos” 22° + cos® 68°

(a) 3 (®) 0 (©)1 (d) 2

6. The value of the expression { +sin” 63° + cos 63° sin 270} is

7. Ifcos A= % , then the value of sinA is

7 24
a) — s c¢) 1 (d) none of the these
()25 @25 ©1 (d)

8. If AABC isright angled at B, then the value of cos(A + C) 1s
(@) 0 (b) 1 (c) ¥ (d) n.d.

9. IftanA = %, then the value of cosA is

(a)% (b) % (¢) 1 (d) none of the these

10. If AA4BC 1s right angled at C, in which AB =29 units, BC = 21 units and ZABC = o..
Determine the values of cos’o + sin’a. is

(a) 0 ) 1 ©) % (d) n.d.

11. In a right triangle ABC, right-angled at B, if tan A = 1, then the value of 2 sin A cos A =
(@) 0 (b) 1 (c) ¥ (d) n.d.

12. Given 15 cot A= 8, thensm A=
(a)% (b) % (¢) 1 (d) none of the these
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MCQ WORKSHEET-
CLASS X: CHAPTER - 8
INTRODUCTION TO TRIGONOMETRY

1. Ina triangle PQR, right-angled at Q, PR + QR = 25 cm and PQ = 5 cm, then the value of sin P 1s
7 24
a) — — c) 1 (d) none of the these
(a) 52 (b) 5% ©1 ()

2. Ina triangle PQR, right-angled at Q, PQ = 3 cm and PR = 6 c¢m, then ZQPR =
(a) 0° (b)30° (c) 45° (d) 60°

3. Ifsm(A-B)= % and cos(A +B) = % , then the value of A and B, respectively are

(a) 45° and 15° (b) 30° and 15° (c) 45° and 30° (d) none of these
4. Ifsn (A—B)=1 and cos(A + B) = 1, then the value of A and B, respectively are
(a) 45° and 15° (b) 30° and 15° (c) 45° and 30° (d) none of these
S. Iftan(A-B)= % and tan (A + B) = 3 , then the value of A and B, respectively are
(a) 45° and 15° (b) 30° and 15° (c) 45° and 30° (d) none of these
3 . .
6. Ifcos(A—B)= T and sin (A + B) = 1, then the value of A and B, respectively are
(a) 45° and 15° (b) 30° and 15° (c) 60° and 30° (d) none of these

7. The value of 2cos” 60° +3sin” 45° —3sin® 30° + 2 cos* 90° is
(a) 1 (b)5 (c) 5/4 (d) none of these

8. sm2A =2 sin AcosA is true when A =
(a) 0° (b) 30° (c) 45° (d) any angle

9. sin A = cosA is true when A =
(a) 0° (b) 30° (c) 45° (d) any angle

10. If smA = % . then the value of 3cosA — 4cos’A is

(a) 0 (b) 1 (c) 4 (d) n.d.
11. If 3cotA = 4, then the value of cos’A — sin’A is
3 7 24
a) — S c) Vs d) —
(a) 2 (b) 2 (©) % (d) >s

3smAd+2cos A .
3sin A—2cos A

@1 ©) 5 ©3 @ 2

12. If 3tanA = 4, then the value of
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MCQ WORKSHEET-IV
CLASS X: CHAPTER - 8
INTRODUCTION TO TRIGONOMETRY

1. Value of 6, for sin26 =1, where 0° <8 <90° is:

(a) 30° (b) 60° (c) 45° (d) 135°.
2. Value of sec’26" — cot’64° is:

(a) 1 (b) -1 (©0 (d) 2
3. Product tan1° tan2° tan3’. ... .. tan89° is:

(a) 1 (b) -1 ()0 (d) 90
4. +l+tan’@ is equal to:

(a) cotd (b) cosé (c) cosect (d) seco

5. IfA+B=90% cot B= % then tanA is equal to;

3 4 1 1
a) — — c) — d) -
(a) 7 (b) 3 (c) A (d) 3
6. Maximum value of , 0°<6<90° is:
cos ec
1
(a) 1 (b) -1 (c) 2 (d) =
7. If 0059:%, sing :% then value of 6+ ¢ 1is
(a) 30° (b) 60° (c) 90° (d) 120°.
8. IfSin(A +B)=1=cos(A—B) then
(a) A=B=90° b)A=B=0° (c) A=B=45° (d) A=2B
9. The value of sin60°cos30° — cos60%in30° is
(@1 (b) -1 ()0 (d) none of these

10. The value of 2sin” 30° —3cos® 45° + tan” 60° + 3sin” 90° is
(@l (b) 5 (0 (d) none of these
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